Farewell to Confucianism g by 472

. What is the question (of the paper)?
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. Why should we care about it?
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. What is your (or the author’s) answer?
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. How did you (or the author) get there?
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Notations and Regression Variables

Conceptual Framework:

Inwy = Ky + 7y
w,: the log earnings to receive the traditional education

Ko: the mean log earnings to receive the traditional education
7no: the demean value of the "skill" in traditional education sector

Inw; =K1 + 14
w;: the log earnings to adopt Western science and technology

K;: the mean log earnings to adopt Western science and technology
11: the demean value of the skillin western sector

q: FHERHRE 4% (quota)

DID regression:
Baseline specification:

Yit = fPost, X Inq; + Posty X Z;y + A; + 1 + Sproy * Mt + it

More specifications:

Yie = pPost; X q; + Posty X Zyy + A + 0 + Oproy " N + it

I(Yys > 0) = pPost; X q; + Posty X Z;y + A; + 0 + Sprop e + €t

Vit = 2279:0188993" (lnqi X Year dummyp=t) + 22,1018899(21- X Year dummypzt)yp

TN + 6prov "Mt &

Yie: SHUEBBORA N TR &N, B&HE R H 24N (BaE 0
Post, = 1if BFHEEMY BERR 5 4E4y; = 0 otherwise

qi: FHOE Y B 48 (quota) (15T 5 \)

Zp: A5 MU R AR SRS

Ai: FHUE 1 specific effect

n¢: year effect

Sprov: Province effect

14
Fuzzy RD design:

I+ = 1if g% Hh S B BUR R 22 BB I (P75 =1 quota); = 0 otherwise
x;: the agricultural tax (unit: stone)

c: the cut value of the the agricultural tax (=150,000 stones)




